_ Sulitie

/]

(o)

w X, %)
00 u)(,!‘r] ‘
\




—t
—_—

-

' ‘\a}u‘f | 8 -

(

4

X'l’,t‘?j + 77 ~ "2{ |




v "—'—1 T—







Computational Science & Engineering I - Fall 2015 EXAM 3

Problem 2 (35 points):

Solve Poisson’s equation with f(z,y) = 1 on a square of side length 1 by finite differences
considering two interior nodes in the z direction and three interior nodes in the y direction.
The boundary conditions are:

e u = 1 along the horizontal sides (z direction) including the corners of the square

e u = 0 along the vertical sides (y direction) excluding the corners of the square

** Do not compute the actual solution. Just write down the matrices involved in the calcu-

lation.
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